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IVUEE 11,865 98.7] 2,018 83.8| |3 &8t 11,865 98.7] 2018 83.8
REAII U 4304 109.7] 207 103.0| |xmEmzLat 4304] 109.7 207 103.0
IERASUE 7,561 93.3| 1,811 82.1| |Tgmssuit 7,561 93.3] 1,811 82.1
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B7TT 44 3,020 - - 2,904 843571 777 79.4| 2,948 846,591 78.9 79.7
HET7YT 4461 15,073 72.7 93.3 3051 683520 96.6| 807 7512 698,593 80.8 80.9
=B 13,140| 50,187 98.2 71.9 1,069 6,933 902 836 14,209 57,120 97.6 73.2
3—Aw/N 680| 31,671 88.9 76.4 814 192,175 46.9| 379 1,494 223,846 59.7 40.8
i %k 1,211 71,311  136.1] 126.1 1,115  289,043| 1048 82.4| 2,326 360,354 119.0 88.5
oK 0 0 - - 1 1,200 0.4 3.4 1 1,200 0.4 3.4
B X 0 0 - - 307 23,357 284.3| 1083 307 23,357 2843 1083
7IUh 0 0 - - 19 4,665 98| 250 19 4,665 9.8 25.0
RKEFEM 0 0 - - 8 616 - - 8 616 - -
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1. SUHAR—L 15 688 - - 1,743| 511,468 402 | 466 1,758 512,156| 40.6 46.6
2. F & 0 0 - - 1,397| 617,160| 139.3 | 254.8 1,397 617,160| 126.7| 2286
3. % E 0 0 - - 1,487| 188,993| 1129 | 576 1,487 188,993 1129 57.6
4. 7A)H 1,211 71,311| 1106 | 633.8 1,115  289,043| 660 | 743 2,326 360,354 835 90.0
5. R—5K 0 0 - - 0 0 - - 0 0 - -
6. NrF L 0 0 - - 63 32,792 46| 935 63 32,792 1.7 81.7
7. K4y 490| 23,785| 1429 | 1545 319 62,297 1945 91.9 809 86,082 159.6 | 1035
8. A1UK 0 0 - - 539 58,342| 913.6 | 608.7 539 58,342 43 91.8
9. 7SOEBREEM | 12,705 48,359 - - 1,069 6,933 2666 | 211 | 13774 55,292 34349 | 168.6
10. TSR 0 0 — - 25 27,510] 64.1 53.9 25 27,510  64.1 53.9
SEt(EDMEL)| 19536] 171,262 923 93.1 9,288 2045080 81.3| 71.7| 28824| 2216342 885 73.0
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RERIY HTEREAL IE£EYY HTERIHAL & &t HIERHAL
= + % 8= ® % = * % B = ® % 8= ® % B = + %
1.0 @ 11,593] 94,906 56.1 31.0 3,125 257,459 208.8 194.7 14,718 352,365 66.4 80.3
2.8 & 17,085 272,706 86.0 97.2 356 54,344 152.8 2472 17.441| 327,050 86.8 108.1
3. RhFL 40,833 442618 111.4 108.4 94 12,413 55.3 164.5 40,927| 455,031 111.1 109.4
4. 84 3513| 29,503 413 59.0 0 0 - - 3513| 29,503 413 59.0
5. Kq1Y 0 0 - - 5 10,556 166.7 350.9 5| 10,556 166.7 350.9
6. NL¥— 0 0 - - 2 15,401 20.0 285.3 2| 15,401 20.0 285.3
7. Fz3 0 0 - - 0 0 - - 0 0 - -
8. 147 0 0 - - 2 1,799 200.0 175.3 2 1,799 200.0 175.3
9. Z4VEY 0 0 - - 0 0 - - 0 0 - -
10. 7AYAH 0 0 - - 16 10,783 - - 16| 10,783 - -
ait(zotat) | 73,024 839,733 85.2 80.3 3,611 369,436 170.5 205.3 76,635] 1,209,169 87.3 98.7

BIA 103.0 131.5 - - 137.8 150.1 - - 104.3 136.7 - -
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XIBGLIERTEDIE5TREE EAI10HE RERSS | TXERSA &t % e I\

g = 0 863 0 2,530 2,530
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zEpsome | BIAE TERILUER EUE:S 4t EIE:3 P T EUE:3 A5)7 0 1,402 0 0 0
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RE7ST 1,652 39.4 8,605| 58915 154,666 222,186 959 61,392 35.3 0 - BIERISA 72.7 102.3 79.1 197.5 85.1

Pl 0 - 437 0 1,324 1,761 43.7 0 - 0 - BIAL 77.6 134.1 76.1 82.5 76.8

= s SYPA 201 129| 10175 28,025 42,376 80,576 116.5 650 1.3 0 - 2t - - - - -
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FCE 0 _ 0 0 703 703 520 0 _ 0 _ 802,178 FH. It 1H%100,485F M. T7—T L R U H/\—H%13,361F M.

& = 16,355 942| 48541| 295572| 479557 823,670 81.2| 170,965 57.2 1,453 32.8 ATERMALL TIXTRER1H72.7%., [ TEA 1H102.3%, M 15379.1%. [T—T )L
BRI 94.2 - 68.8 74.5 87.6 81.2 - 57.2 - 32.8 - RUHN—1H1975% TH b,

BIA 55.8 - 71.8 71.6 59.4 64.0 - 85.6 - 28.1 -

R & - - - - - - - - - - - @ HTALLTIEZ. TREMINTI6%. [TERAI1H134.1%, T#1576.1%, [T—7
Bl 22 B 4A L - - - - - - - - - - - LRUHIN—153825%TH B,

FFER24FE1 LS [T RUAN—IOVWTIE. RERFSM S HINERD FK B 1241,

D 1B R IXTRERIS VS GRINAN16,355F M, T TERID U EHIHS823,670FH. MEH1H%170,965FH., [T—TIIL B U A/ A— N
1,453F A, BIEREALL TIXITKER1H94.2% . [ TERA1H81.2%. [§1557.2% . [T—T LR U H/N—1H32.8% TH B,
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REAIVVDEE., RFE. EEEH(AR) (18/1~12,19/1~)
BB, %
7 E | 1818 2H 3H 4R 5A° 6H 7H 8H 9H 10H 118 128 19.18 2R 3H 4K 5H 6 H 78 8H 9H 108 118 12H
HEEH 3,922 4,767 4117 4000 3232 4569 4,793 4772 4,711 5,088 4,445 4582 4,304
STRIE L -10.4 1.1 -14.2 6.0 -19] -19.3 -15.8 -5.1 42 22.2 8.9 12.7 9.7
BRFEEH 3,809 4878 4,060 4067 3,259 4,506 4,855 4,836 4,864 4,889 4,606 4,547 4197
SETELE -15.1 -1.2 -16.7 3.9 -28] -19.7 -145 -3.6 6.6 14.6 11.8 9.7 10.2
EEEH 516 409 466 399 372 435 373 309 156 355 194 230 337
SEIEL -51.3 -51.1 -38.8 -36.1 -346] -30.3 -41.9 -52.9] -74.8 -31.7 -59.8 -42.6 -34.7
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REAIVUODEE. RFEEE(AR) (18/1~12,19/1~)
B B5AH. %
7 E | 1818 2H 3H 4R 5H 6H 7H 8H 9H 108 118 128 | 1918 2R 3H 4R 58 6 H 78 8H 9R 108 | 11A | 128
HEESE 201 218 200 180 152 231 232 237 237 261 245 211 207
SETE L 14.9 11.8 -5.2 20.0 0.7 -233| -244 -8.8 2.2 45.0 19.5 9.9 3.0
BRsEe%a 179 240 185 190 158 218 242 239 267 226 271 207 191
SRIELE -3.8 15.9 -11.9 9.2 -42| -951 -20.7 -74 11.7 14.7 28.4 -1.0 6.7
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0
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Hi. 5. 5A5H.%

7B | 1818 | 2A 3A 48 58 68 78 8H 9B [ 10 [ 11A [ 128 1918 ] 2R 38 47 58 68 78 8 A 9A [10A [ 11A [ 128
& # | 21165 15950 17,700] 24.773] 22.254] 20675] 16.807] 16,003] 19.964] 22989 23.176] 23.002] 19,536
SHRT4ELE 32| -263] -265 69] 34| -370] -204| -406] -307] -274 81| -326] -77
& %8 184 180 204 173 218 235 212 198 266 276 234 220 171
S ET4E L 48] 172] -206] 29| 23] -327] -389] -2209 21| -150 23] -—138] 69
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REAIVVOMAESH. £ (AR) (18/1~12,19/1~)

B 5. 5HHFH.%

7w & | 1818 28 3A 48 58 68 78 8A 9B | 108 | 11B | 12A | 1918 28 38 48 58 68 78 8A 9B | 108 | 118 | 128
B & 85,708 65,075 46,126] 61,753] 60611] 51.477] 43915] 34.864] 33469] 52,609] 60652] 70.886] 73,024
XETELE -29.0 -14.1 -46.8 -29 41.4 17.9 -7.8 -238| -405| -17.9] -214 -16.9 -14.8
£ i 1,045 782 649 621 580 572 513 474 411 479 672 638 840
XRT4ELL 93 04 -270 11.9 47 -0.6 24 -182] -104] -332] -251 -26.9 -19.7
BH(E) REFSL L OBAL Y. 21 SREFA)
100,000 1,200
80000 | [ 1 1,000
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ITERAIVUDEE. RFE. EESH(AR) (18/1~12,19/1~)

BB, %

7w E | 1818 2H 3H 4R 5H 6H 7H 8H 9H 108 118 128 | 19.18 2R 3H 4R 58 6 H 78 8H 9H 108 118 128
SESH 8,104| 8379 9,149 9,280 9217 9,314 9,038 8,158 7,409 7,661 7,766 7,259 7,561
XTETEELE 3.9 0.5 13.8 11.5 39.9 21.9 24.9 23.9 10.6 10.7 3.7 -7.9 -6.7
BRsEask| 11,869] 10939 16,284 16,397] 15057 15949 16,221] 12,869 14,043 8,008 13,.884| 11,732 10,585
SRIE L 17.5 -9.9 55.0 39.9 21.2 413 37.9 23.0 225 -275 19.6 71|  -108
EES#| 14146] 15609 14229 135950 14,119 13,804| 11,845 12448 11,462 6,476] 11,627 11,948] 13,005
SEIE L -3.8 10.6 -23 -11.8 28 -1.1 -11.2 -9.1 -14.3 -51.1 -12.0 -10.8 -8.1
Lkl (L ~s o "
B H8(&) TEMEILLOEE. RESHK o EEAH
20,000 ——fREa
15,000 |
10,000
5,000 |
0

18.1H 3A 5H 7R 9A 11A 1914 3A 5H 7R 9A 11A

REEEE XBIERAL CoO4EESH

——HRE 5
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TERIVVD

DEE. RFTEEFE(AR) (18/1~1219/1~)

HBi.-BHAH. %

7 E 18.18 2R 3H 4R 5H 6H 7H 8H 9H 10H 118 128 | 19.18 2R 3H 4K 5H 6 H 78 8H 9R 108 118 12H
HEESE 2207] 2404 2610 2,644 2614 2715 2558 2,287 2,258 23201 2,180 2,039 1,811
SETE L 25 -3.6 5.4 6.4 19.9 10.5 11.7 16.5 3.1 1.2 -8.3 -14.0 -17.9
IR EE 2,750 2,637| 3,398 3,121 3,004 3525| 3278 2769 3,035 2,566] 2,764 2,445 2,178
SRIELE 185| -14.4 33.9 7.1 46 215 144 12.8 49 -8.2 0.1 -13.2 -20.8
£2E(EHAM) TERIDUDEE. RFEE£EE
4,000
3,000 ‘—\Q/\‘\’/‘\‘\’/‘\’/‘\‘\‘
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40
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THERAIDVOOMEEH. €B(AR) (18/1~12,19/1~)

Hi.- 5. 5AH.%

7 E 1818 28 3A 48 58 6 A 78 8 A 98 108 [ 118 [ 128 | 1918 28 3A 47 58 6 A 78 8H 94 108 | 11A [ 12A
B ¥ 11,420 13250 17,555 14,162| 11,669] 15201| 13,605 11,821 12,278 11,571| 12,449] 10,730 9,288
SR L 36.2 -10.7 18.9 -18.6 25.8 11.1 17.7 11.7 19|  -226 -30| -309| -187
% % 2,852 2,692 3,652 3,195 2,751 3,659 3,311 2984| 3038] 2922 3260] 2931 2,045
R BIELE 23.8 -21.3 13.6 4.9 17.6 26.0 345 32.2 13.4 10.3 24.3 -52| -28.3
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10,000 | 1 2,000
1 1500 =& #
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% ITERIDUOWHEEH. €58 XAIERAL
5
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1M 2R 3R 4R 5AH 6H 7R 8R 9R 10R 11R 12R




THRAIVUDBMARH. £B(AX) (18/1~12,19/1~)
Hi:- 8. 858, %
7w E | 1818 2H 38 48 58 68 7H 8H 98 108 | 11B [ 12A | 1918 | 2R 3R 418 58 68 78 8 H 9H 108 [ 11R 128
= 2,118 1,460 1,600 1,714 1,917 1,473 1,834 1,750 1,977 2,067 5,501 2,621 3,611
XRIE L -17.4 -6.4 -32.0 -42.6 -16.4 -49.6 -12.1 -19.0 -8.6 43.9 154.4 27.6 70.5
£ % 180 191 123 149 265 223 145 216 224 259 275 246 369
S RIELE -35.5 36.6 -47.3 -43.0 4.9 -10.8 -39.1 -1.4 24.0 41.6 33.8 79 105.3
A IERAILUOBALH. 24 EHRERMA)
6,000 400
5,000 |
1 300
4000 Lo
3,000 4 200 .
a8
2,000 B | 100 _’_ﬁ gﬁ
oo VO O
0 0
1818 3A 58 7R 9A” 118 1918 3R 78 91 118
% TERIYVOWMALE. £%8 NAIFERAL
200
150
100
50 ¢ —a &
——% %
0 A\ . . Il Il — L l L ] L l
1 = — ] —
50 j8&ﬁ 2R \\gél__4 5H a: = SH 9H 10A 11A 12HAH 1918 2R 3A 4R 58 6 A 78 8A 9A 10A 11A 12RH
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£ E-BR - E

(Bfi: 5. 8AM. %)

H B 2019 & 1 H
| 4 E iR 5t = E
BETE R H = |fIERESL & % AIEREALE = BIERIEALE & % BIERIEALE B = AIEREALE
RER RERIUE 4304 109.7 207 103.0 4197 110.2 191 106.7 337 65.3
— AR EEALE 265 415 31 53.4 267 36.8 33 51.6 276 55.5
TEm ~Y§E 793 118.9 119 108.2 3,838 171.4 353 127.9 6,500 82.5
FOMODITERAIY 6,503 95.7 1,661 81.5 6,480 72.8 1,792 74.4 6,229 108.0
TERAIUE 7,561 93.3 1,811 82.1 10,585 89.2 2,178 79.2 13,005 91.9
=Ly B Et 11,865 98.7 2,018 83.8 14,782 94.3 2,369 80.9 13,342 91.0
1. M BFEXEEEBERE 2 EEFBAREEEZTT .
1B B 2019 F 1~ A
| s EE iR 5t = E
BEFE R = | iERT & % BIERHALE = BIEREALE ol ] BRI 8 = BIERHALE
REA REAILUE 4304 109.7 207 103.0 4197 110.2 191 106.7 337 65.3
— R EEARLE 265 415 31 53.4 267 36.8 33 51.6 276 55.5
TEm ~U§E 793 118.9 119 108.2 3,838 171.4 353 127.9 6,500 82.5
FOMDTERIY 6,503 95.7 1,661 815 6,480 72.8 1,792 74.4 6,229 108.0
TERILUE 7,561 93.3 1,811 82.1 10,585 89.2 2,178 79.2 13,005 91.9
2Ly & 11,865 98.7 2,018 83.8 14,782 94.3 2,369 80.9 13,342 91.0
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20194E 18 & H

(B2 EER)

(B &, FH. %)

E E | = F & B7UT71HE X ETERIEALE B7UT71~AEt X ETERHEALE
B E £ %8 8 = & %8 B E & % B E & & 8 =2 & %8 B E & %8 B E & %8 B E & %8
R VIV REFEERAERK 0 0 — — 0 0 - -
E VY7 iEEnth) 0 0 — - 0 0 - -
A [zoith 44 3,020 44 3,020 - - 44 3,020 - -
= N 0 0 0 0 44 3,020 0 0 44 3,020 - — 44 3,020 - -
V| B E3 30 0) 282 4,580 0 4,862 — 54.4 0 4,862 — 54.4
D REHAIVUEE 0 0 0 282 44 7,600 0 0 44 7,882 — 88.1 44 7,882 — 88.1
BB EBEHEHGYMR) 0 0 — — 0 0 - -
T (B8R EBEHEHKEOIHM) 0 0 - - 0 0 - -
EEIEN F——0Oyy 0 0 — - 0 0 - -
X B8k ZFoft 4 36,066 1,109 123,740 241 330,758 1,354 490,564 3445 123.2 1,354 490,564 3445 123.2
it 4 36,066 1,109 123,740 0 0 241 330,758 1,354 490,564 343.7 122.0 1,354 490,564 343.7 122.0
A |0t BHHEHREYMR) 7 2,686 7 2,686 53.8 75.1 7 2,686 53.8 75.1
Z D4l HEHERE D) 27 3,214 26 4,838 53 8,052 21.2 17.2 53 8,052 21.2 17.2
2 [Z0is d——Ovs 14 1,103 367 62,197 381 63,300 157.4 164.0 381 63,300 157.4 164.0
Z D4t ZDfth 344 59,353 2 249 763 219,367 1,109 278,969 39.1 48.8 1,109 278,969 39.1 48.8
D2 &t 0 0 378 65,253 16 1,352 1,156 286,402 1,550 353,007 46.4 53.5 1,550 353,007 46.4 53.5
s 4 36,066 1,487 188,993 16 1,352 1,397 617,160 2,904 843,571 77.7 79.4 2,904 843,571 77.7 79.4
Vo |ERE RE A —RUE) 87,511 9,237 7,391 2,023 14,140 5,565 109,042 16,825 29.3 33.1] 109,042 16,825 29.3 33.1
A< {E) 2,112 5,848 84,230 127,880 2,432 6,542 13,994 37,144 102,768 177,414 68.3 58.9] 102,768 177,414 68.3 58.9
ZDfth 1,150 104,038 6,798 33,894 0 145,880 — 66.9 0 145,880 — 66.9
N 6,998 241,155 15,363 76,603 0 340,119 - 59.7 0 340,119 - 59.7
ITERAILUEE 4 43,064 1487 430,148 16 16,715 1,397 693,763 2,904 1,183,690 77.7 72.5 2,904 1,183,690 77.7 72.5
#HFR) 32 668 293 3,935 11,092 101,910 11,417 106,513 111.2 104.0 11,417 106,513 111.2 104.0
T=7 W R VN = 599 0 599 — 33.2 0 599 — 33.2
WEH(EL A 4 36,066 1,487 188,993 60 4,372 1,397 617,160 2,948 846,591 78.9 79.7 2,948 846,591 78.9 79.7
@ it 4 43,064 1487| 431,697 60 28,250 1,397 795,673 2,948 1,298,684 78.9 744 2,948 1,298,684 78.9 74.4
FECERUEIANS -7 VRN -1IZDODVWTIERERASH SN INERDO KB (T2,
Nh+L4 2 4 SUHER—I XL—7F I4VEY AVERLT HoROT Sy N—
B E £ % #8 =2 £ % B = £ % 8= £ % B = & % 8= & % B = £ %5 = £ %
R VIV REFEERAERK 245 261 1,484 3,318
E VY7 i&Enth) 200 841 967 4,159
A |0t 15 688 938 3,691
= N E 0 0 200 841 15 688 0 0 0 0 0 0 245 261 3,389 11,168
VT [RERIYOLD 886 466
v RERIVUEE 0 886 200 841 15 688 0 0 0 0 0 0 245 261 3,389 11,634
BB  EBEHEHRGYMR)
T |88 BEHEHREOH)
Bk A—/\—0OvsH
= B3R ZDfth 6 4,888 135 179,474 31 4,035 25 34,394
it 6 4,888 0 0 135 179,474 31 4,035 0 0 25 34,394 0 0 0 0
A |0t BEHEREGEYR) 94 14,145
ZDfh BEHBERE D) 9 4,849 226 42,269
2 (20 A—/—aOvy
ZDH ZDfth 57 27,904 29 3,903 1,288 275,580 6 2,522
v it 57 27,904 38 8,752 1,608 331,994 0 0 0 0 0 0 6 2,522 0 0
N E 63 32,792 38 8,752 1,743 511,468 31 4,035 0 0 25 34,394 6 2,522 0 0
Y |E& RE A7 —RUE) 12,679 2,590 8,500 3,600
A< UE) 47,627 16,452 322 1,059 3,570 11,250 250 1,861 144 414
ZDfth 78,520 5776 40,756 1,008 6,878 400
N B 97,562 10,435 52,006 1,008 8,739 814 0 0
ITERAILUEE 63 130,354 38 19,187 1,743 563,474 31 5,043 0 8,739 25 35,208 6 2,522 0 0
FHFAX) 1,532 15,347 8 261 2,047 20,330 37 2,150
T=-7 W RN =
BEH(EL A 63 32,792 238 9,593 1,758 512,156 31 4,035 0 0 25 34,394 251 2,783 3,389 11,168
p it 63 146,587 238 20,289 1,758 584,492 31 5,043 0 10,889 25 35,208 251 2,783 3,389 11,634
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AV INFRBY RAUSHh NS5 Ta FIHZRBY BEm7U71AE X ETE B H L BEm7U71~A%t

B E & % B = + %8 H E & % B = & % B = + %8 B = & % H E + %8 H E & %
R VIV REFEEAERK 333 486 2,062 4,065 87.6 61.7 2,062 4,065
BE V737 i(EDih) 279 1,629 1,446 6,629 52.8 121.7 1,446 6,629
A |0t 953 4379 91.7 106.2 953 4379
= N 0 0 0 0 0 0 0 0 612 2,115 4,461 15,073 72.7 93.3 4,461 15,073
< |EBdm | ZRERIYDOHLD 300 0 1,652 — 39.4 0 1,652
v REHAIVUAE 0 0 0 0 0 300 0 0 612 2,115 4,461 16,725 72.7 82.2 4,461 16,725
B HHERGEDR) 0 0 - - 0 0
T (B8 HBEHEHKEOM) 0 0 — - 0 0
BEgi A—/\—0Ov 0 0 — - 0 0
X BB ZFoih 11 12,567 538 3,412 746| 238,770 297.2 81.7 746 238,770
it 0 0 0 0 11 12,567 0 0 538 3,412 746| 238,770 276.3 73.0 746 238,770
A [zoith B EHREYMR) 94 14,145 215 116.9 94 14,145
ZDih HHEHRE DM 204 24,035 439 71,153 180.7 194.7 439 71,153
2 (20 d——Ovs 30 1,433 30 1,433 29.1 54.8 30 1,433
Z D4 ZDith 305 32,874 45 10,472 1 222 11 4542 1,742 358,019 82.8 76.4 1,742 358,019
D% &t 539 58,342 45 10,472 1 222 11 4,542 0 0 2,305 444,750 79.8 85.6 2,305 444,750
N E 539 58,342 45 10,472 12 12,789 11 4,542 538 3,412 3,051 683,520 96.6 80.7 3,051 683,520
Y |ER& RE 7 —RUE) 3,400 484 25,000 1,730 1,100 201 50,679 8,605 226.3 155.0 50,679 8,605
H<UE) 5,158 6,845 8,690 13,720 264 1,495 3,860 5819 69,885 58,915 79.2 92.1 69,885 58,915
ZDft 9,092 765 6,500 4971 0 154,666 — 95.5 0 154,666
N E 16,421 16,215 7,995 10,991 0 0 222186 — 95.9 0 222,186
TERIVUEE 539 74,763 45 26,687 12 20,784 11 15,533 538 3,412 3,051 905,706 96.6 84.0 3,051 905,706
#HFAR) 4,284 23,304 7,908 61,392 36.8 35.3 7,908 61,392
T=7 W R UAN = 0 0 — - 0 0
BEH(EPUAED 539 58,342 45 10,472 12 12,789 11 4,542 1,150 5527 7512 698,593 80.8 80.9 7512 698,593
i it 539 98,067 45 26,687 12 21,084 11 15,533 1,150 5527 7512] 983,823 80.8 77.2 7512 983,823

X EIERHALE 134 YOUTFISET 757 REERR FIEE1HE X EIERHALE hifE1~A&t X ETERIHALE

B E £ % = & % 8 = £ % 8= & % B E & % 8= & % B E & % B E £ %
R VIV REFEERAERK 87.6 61.7 435 1,828 3,444 6,447 3,879 8,275 117.7 68.8 3,879 8,275 117.7 68.8
E VY7 i&Enth) 52.8 121.7 2,965 16,315 2,965 16,315 86.7 55.6 2,965 16,315 86.7 55.6
A |0t 91.7 106.2 6,296 25,597 6,296 25,597 94.5 90.2 6,296 25,597 94.5 90.2
= N E 72.7 93.3 435 1,828 0 0 12,705 48,359 13,140 50,187 98.2 71.9 13,140 50,187 98.2 71.9
VT [RERIYOLD - 39.4 0 0 - - 0 0 — —
D REHAIVUEE 72.7 82.2 435 1,828 0 0 12,705 48,359 13,140 50,187 98.2 71.9 13,140 50,187 98.2 71.9
BB  EBEHEHRGYMR) - - 150 399 150 399 30.5 15.3 150 399 30.5 15.3
T (58 BEHBERE D) - - 0 0 - — 0 0 - -
BEjxX A—/N\—0Ovs - — 260 1,136 260 1,136 107.9 97.6 260 1,136 107.9 97.6
= B8R Z N 297.2 81.7 329 1,639 329 1,639 210.9 77.0 329 1,639 210.9 77.0
it 276.3 73.0 0 0 0 0 739 3,174 739 3,174 83.1 53.8 739 3,174 83.1 53.8
A |0t BEHEREGEYR) 215 116.9 64 311 64 311 — — 64 311 - -
ZDfh BEHBERE D) 180.7 194.7 0 0 — — 0 0 — -
2 | 2D F—/—avs 29.1 54.8 0 0 — — 0 0 — -
ZDfth ZDfth 82.8 76.4 266 3,448 266 3,448 604.5 375.6 266 3,448 604.5 375.6
D2 it 79.8 85.6 0 0 0 0 330 3,759 330 3,759 1115 157.0 330 3,759 1115 157.0
N E 96.6 80.7 0 0 0 0 1,069 6,933 1,069 6,933 90.2 83.6 1,069 6,933 90.2 83.6
Y |E& RE A —RUE) 226.3 155.0 2,500 437 2,500 437 166.7 109.5 2,500 437 166.7 109.5
A< UE) 79.2 92.1 0 0 — — 0 0 — -
ZDfth - 95.5 219 1,105 0 1,324 - 473 0 1,324 - 47.3
N B — 95.9 0 219 1,542 0 1,761 — 43.7 0 1,761 — 43.7
ITERAILUEE 96.6 84.0 0 0 0 219 1,069 8,475 1,069 8,694 90.2 70.6 1,069 8,694 90.2 70.6
#H(FR) 36.8 35.3 0 0 — — 0 0 - -
T=7 W R UHhN = - - 0 0 - — 0 0 - —
BEH(EPUEED 80.8 80.9 435 1,828 0 0 13,774 55,292 14,209 57,120 97.6 73.2 14,209 57,120 97.6 73.2
i it 80.8 77.2 435 1,828 0 219 13,774 56,834 14,209 58,881 97.6 64.9 14,209 58,881 97.6 64.9

13




1XYR 5245 N)L¥— 25 KAy AAR RILEH L 137
B E & %8 8 = & %8 = £ % = & & = & %8 B E & & 8 = & %8 = & %
R VIV REFEERAERK
E VY7 iEEnth)
A |0t 490 23,785
= N E 0 0 0 0 0 0 0 0 490 23,785 0 0 0 0 0 0
VR E [REAIVOLD 201
D RERIVUEE 0 201 0 0 0 0 0 0 490 23,785 0 0 0 0 0 0
EEIEY BEHEHREYR)
T (88K HHEHRE DM
Bk A—/\—0OvH 8 343
x 28K Z D 16 25,791 25 27,510 1 279
&t 0 0 16 25,791 0 0 25 27,510 9 622 0 0 0 0 0 0
A |0t BHHEHREGYR) 10 2,813 10 4,978
Z D4 BEHBERE D) 31 7,245
2 | ZDi > —/\—avsH 151 22,983 20 2,080
Z D4 Z N 5 838 173 32,626 149 33,714 6 1,680
% it 5 838 214 42,684 0 0 0 0 310 61,675 0 0 0 0 26 3,760
N E 5 838 230 68,475 0 0 25 27,510 319 62,297 0 0 0 0 26 3,760
Y |ER& RE A —RUA) 2,622 967 2,400 1,206 8,850 2,997
A< E) 101 505 3,051 10,558 122 392 1,209 3,110
ZDfth 1,248 738 1,442 5,908 13,050 543 4,560
N 2,720 738 1,442 5,908 24,814 543 392 10,667
IT¥RIL Va8 5 3,558 230 69,213 0 1,442 25 33,418 319 87,111 0 543 0 392 26 14,427
FHFX) 8 650
T=-7 W RN =
WEH(EL A 5 838 230 68,475 0 0 25 27,510 809 86,082 0 0 0 0 26 3,760
po it 5 3,759 230 69,213 0 2,092 25 33,418 809 110,896 0 543 0 392 26 14,427
"= K INHY)— EDDAY IL—==7F kLo Yr7=T EILE/N Fzo
B = & % B = & %8 = & %8 = & % = & %8 B = & % H = & %8 = & %
R |V EFERERER)
BE V04 7 iEEnt)
A |0t 190 7,886
= N E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 190 7,886
B [RERI Y OLD
v REHRIVUAE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 190 7,886
BEiX EHERGYR)
T |8k HHEHRE M)
EEIEN F—/\—0Oyy
% (B9 Zoi 2 229
it 0 0 0 0 0 0 0 0 0 0 0 0 2 229 0 0
A [zoih HHEHREYR)
ZDfth HHEHRE M)
2 (20 F——Ovs 73 5,994 5 973
Z D4l ZD1h 127 21,743 2 356
D2 &t 0 0 0 0 0 0 0 0 200 27,737 7 1,329 0 0 0 0
N 0 0 0 0 0 0 0 0 200 27,737 7 1,329 2 229 0 0
v |ER& RE 7 —RUE) 1,795 3,464 4,630 1,541
A< {ED 1,827 5,467 35 203 51 369 100 298 2,324 6,542 79 581
Z N 9,859 693 3,856 479
N Et 18,790 203 369 991 11,939 479 0 581
IT¥R3 U8 0 18,790 0 203 0 369 0 991 200 39,676 7 1,808 2 229 0 581
#HFR)
T2V RUHN =
BEEIVEED 0 0 0 0 0 0 0 0 200 27,737 7 1,329 2 229 190 7,886
p it 0 18,790 0 203 0 369 0 991 200 39,676 7 1,808 2 229 190 8,467
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3—ow/X1 A&t S RTERE 3—Aw/ 1~ A5t X ETERIEALE Hhr5 TFA)AERE k1 A5t X ETERHEALE

B E £ %8 8 = & %8 B E ol 8 =2 & % B E & %8 B E & & B = & %8 B E & %8
R VIV REFEERAERK 0 0 - — 0 0 — - 0 0 - -
BB V947 #EFnih) 0 0 - - 0 0 - - 0 0 - -
A |0t 680 31,671 88.9 76.4 680 31,671 88.9 76.4 1,211 71,311 1,211 71,311 136.1 126.1
= N 680 31,671 88.9 76.4 680 31,671 88.9 76.4 0 0 1,211 71,311 1,211 71,311 136.1 126.1
v | B | ZERIYDOLD 0 201 - 12.9 0 201 - 12.9 9,640 0 9,640 - 363.5
D REHAIVUEE 680 31,872 88.9 74.1 680 31,872 88.9 74.1 0 0 1,211 80,951 1,211 80,951 136.1 136.8
B HHERGEDR) 0 0 - - 0 0 - - 1 2,738 1 2,738 50.0 5.2
T (B8R EBEHEHKEOIHM) 0 0 - - 0 0 - - 0 0 - -
B A—/N\—0Ovo 8 343 4.0 3.2 8 343 4.0 3.2 2 6,718 2 6,718 — —
x 28K Z D 44 53,809 19.9 23.3 44 53,809 19.9 23.3 18 32,193 18 32,193 25.7 35.0
it 52 54,152 12.3 22.4 52 54,152 12.3 22.4 0 0 21 41,649 21 41,649 29.2 28.7
A |0t BHHEHREYMR) 20 7,791 153.8 207.6 20 7,791 153.8 207.6 49 7,643 49 7,643 43.4 37.0
Z D4l BEHBERE D) 31 7,245 30.1 48.4 31 7,245 30.1 48.4 30 9,906 30 9,906 27.3 50.3
2 [Z0is d——Ovs 249 32,030 59.9 49.0 249 32,030 59.9 49.0 104 16,781 104 16,781 59.8 36.8
Z D4t ZDfth 462 90,957 59.1 50.1 462 90,957 59.1 50.1 911 213,064 911 213,064 153.1 177.8
D2 &t 762 138,023 58.0 52.0 762 138,023 58.0 52.0 0 0 1,094| 247,394 1,094 247,394 110.3 120.3
N 814 192,175 46.9 37.9 814 192,175 46.9 37.9 0 0 1,115 289,043 1,115 289,043 104.8 82.4

Vo |ERE RE A —RUE) 20,297 10,175 607.7 253.3 20,297 10,175 607.7 253.3 20 219 7,466 11,031 7,486 11,250 97.2 252.1
A< {E) 8,899 28,025 271.7 236.6 8,899 28,025 271.7 236.6 5,426 21,921 5,426 21,921 221.8 162.2
ZDfth 0 42,376 - 79.5 0 42,376 - 79.5 860 91,751 0 92,611 — 109.3
N 0 80,576 - 116.5 0 80,576 - 116.5 1,079 124,703 0 125,782 - 122.4
ITERAILUEE 814| 272,751 46.9 47.3 814 272,751 46.9 473 0 1,079 1,115| 413,746 1,115 414,825 104.8 915
#HFAR) 8 650 1.2 11.3 8 650 1.2 11.3 42 2,410 42 2,410 9.0 28.8
T=7 W R VN = 0 0 - - 0 0 - - 854 0 854 — 238.5
WEH(EL A 1494] 223,846 59.7 40.8 1,494 223,846 59.7 40.8 0 0 2,326 360,354 2,326 360,354 119.0 88.5
@ it 1494 305,273 59.7 48.8 1,494 305,273 59.7 48.8 0 1,079 2,326 497,961 2,326 499,040 119.0 95.7

k1~ A&t X RIAE [F HA e Ax0 rPaSR TLYIL/ARIL FI—hHAFE X185 X3 B4 R HA L

B = & % 8 = & % B = & % B = & % B = & % B = & % B = & % B = & %
R |V EFEERAER 0 0 - - 0 0 — -
E V947 8&Enth) 0 0 - - 0 0 - -
A [zoih 1,211 71,311 136.1 126.1 0 0 — -
= N E 1,211 71,311 136.1 126.1 0 0 0 0 0 0 0 0 0 0 - -
T |EBE [REATVOLOD 0 9,640 - 363.5 0 0 Z Z
v REHRIVUAE 1,211 80,951 136.1 136.8 0 0 0 0 0 0 0 0 0 0 — -
B HHERGYMA) 1 2,738 50.0 5.2 0 0 - Z
I |88 BEHEHREDOIH) 0 0 - - 0 0 — —
B A—/\—0Ovs 2 6,718 - - 0 0 — —
x BB ZFoih 18 32,193 25.7 35.0 1 1,200 1 1,200 2.5 16.6
it 21 41,649 29.2 28.7 1 1,200 0 0 0 0 0 0 1 1,200 2.5 16.6
A |0t EHEREYR) 49 7,643 43.4 37.0 0 0 - -
Tt EHBEREDH) 30 9,906 27.3 50.3 0 0 Z Z
2 [Z0is F——Ovs 104 16,781 59.8 36.8 0 0 — -
Z D4 Z D 911 213,064 153.1 177.8 0 0 - _
D% it 1,094] 247,394 110.3 120.3 0 0 0 0 0 0 0 0 0 0 — -
N 1,115 289,043 104.8 82.4 1 1,200 0 0 0 0 0 0 1 1,200 0.4 3.4
Y |&R& RE 7 —RUE) 7,486 11,250 97.2 252.1 811 543 811 543 5.2 23.7
H<UE) 5,426 21,921 221.8 162.2 1,182 4,594 60 257 1,242 4,851 224.6 251.0
ZDfth 0 92,611 - 109.3 6,195 16,854 1,550 6,983 0 31,582 - 163.8
N F 0 125,782 - 122.4 11,332 16,854 1,550 7,240 0 36,976 — 157.3
ITERILUEE 1,115 414,825 104.8 91.5 1 12,532 0 16,854 0 1,550 0 7,240 1 38,176 0.4 64.5
#H(FR) 42 2,410 9.0 28.8 0 0 - -
T=7 W R UHhN - 0 854 - 238.5 0 0 — —
BEH(ELUEED 2,326 360,354 119.0 88.5 1 1,200 0 0 0 0 0 0 1 1,200 0.4 3.4
i it 2,326 499,040 119.0 95.7 1 12,532 0 16,854 0 1,550 0 7,240 1 38,176 0.4 64.5
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K1~ Bt % 57 4F [ A LE QO0UE 7 ~RJ)L— F IV VT TA TILEVFY
B E & % 8 = & % = £ % 8 = ol = & %8 B E ol 8 = & %8 B E & %
R VIV REFEERAERK 0 0 - -
E VY7 iEEnth) 0 0 - -
A [zoith 0 0 - -
= N E 0 0 - - 0 0 0 0 0 0 0 0 0 0 0 0
VR E [REAIVOLD 0 0 - -
> REHAIVUEE 0 0 - - 0 0 0 0 0 0 0 0 0 0 0 0
BB EBEHEHGYMR) 0 0 - -
T (BB EBEHEHKEOIHM) 0 0 - -
Bt A—/—Ovs 0 0 -
X B8k ZFoft 1 1,200 2.5 16.6
it 1 1,200 2.5 16.6 0 0 0 0 0 0 0 0 0 0 0 0
A |0t BHHEHREGYR) 0 0 - -
Z Dk BEHBERE D) 0 0 - -
2 | ZDi F—/—awvsy 0 0 - -
Z D4 ZDfth 0 0 — — 302 22,747 5 610
% it 0 0 - - 0 0 302 22,747 0 0 5 610 0 0 0 0
N E 1 1,200 0.4 3.4 0 0 302 22,747 0 0 5 610 0 0 0 0
Y |ER& RE A —RUA) 811 543 5.2 23.7 506 360 1,500 346
A< UA) 1,242 4,851 224.6 251.0 1,357 2,940 696 952
ZDfth 0 31,582 - 163.8 425 309 1,977 1,223 1,825
N 0 36,976 - 157.3 425 3,300 309 3,275 1,223 1,825
ITERIVUEE 1 38,176 0.4 64.5 0 425 302 26,047 0 309 5 3,885 0 1,223 0 1,825
FHFX) 0 0 - -
T=7 W R VN = 0 0 - -
WEH(EL A 1 1,200 0.4 3.4 0 0 302 22,747 0 0 5 610 0 0 0 0
@ it 1 38,176 0.4 64.5 0 425 302 26,047 0 309 5 3,885 0 1,223 0 1,825
BEX1HE X RIAE [F] HA EX1~AEt X Bl EHA L Fa=T7F ITTk IFAET E72Uh
B = & % ¥ = & %8 M = & %8 8 = & %8 = & %8 B = £ % B = & %8 3 = & %
R VIV EFEERAER) 0 0 - - 0 0 - -
E V94 7 8&(EFnth) 0 0 - - 0 0 - -
A [zoit 0 0 - - 0 0 - -
= N E 0 0 - - 0 0 - — 0 0 0 0 0 0 0 0
v |B& [RERIVOLD 0 0 - - 0 0 — -
v REHRIVUAE 0 0 - - 0 0 - - 0 0 0 0 0 0 0 0
BB  EHEHRGEGMER) 0 0 - - 0 0 - -
I 88X BEHEHREOIH) 0 0 - - 0 0 - -
BE= F——avs 0 0 - - 0 0 - -
x BB ZFoih 0 0 - - 0 0 - -
it 0 0 — — 0 0 - — 0 0 0 0 0 0 0 0
A |0t EHEREYR) 0 0 - - 0 0 - -
ZDfh HHEHRE D) 0 0 - - 0 0 - -
S | ZF0iM F—/N—avws 0 0 - - 0 0 - -
Z Dk Z Dt 307 23,357 295.2 191.5 307 23,357 295.2 1915 19 4,665
D2 &t 307 23,357 292.4 181.4 307 23,357 292.4 181.4 0 0 0 0 19 4,665 0 0
N 307 23,357 284.3 108.3 307 23,357 284.3 108.3 0 0 0 0 19 4,665 0 0
Y |&R& RE 7 —RUE) 2,006 706 16.2 23.3 2,006 706 16.2 23.3
A=) 2,053 3,892 301.0 175.3 2,053 3,892 301.0 175.3 240 554
ZDith 0 5,759 - 158.6 0 5,759 - 158.6 3,768 549 339
N F 0 10,357 - 116.6 0 10,357 - 116.6 4,322 549 0 339
ITERILUEE 307 33,714 284.3 110.7 307 33,714 284.3 110.7 0 4,322 0 549 19 4,665 0 339
#H(FR) 0 0 - - 0 0 - -
T=7 W R UHN - 0 0 - - 0 0 - -
BEH(EL VA 307 23,357 284.3 108.3 307 23,357 284.3 108.3 0 0 0 0 19 4,665 0 0
i it 307 33,714 284.3 110.7 307 33,714 284.3 110.7 0 4,322 0 549 19 4,665 0 339
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72Uh1 A5 S RTERE 72Uh1~HEt X ETERIEALE A—RLSUT KEM1AE S RITERE KFEM1~AE
B E & % B E & %8 B E & & 8 =2 & % B E & %8 B E & %8 B E & %8 B E & %8
R VIV REFEERAERK 0 0 — 0 0 — - 0 0 - 0 0
BB V947 #EFnih) 0 0 - - 0 0 - - 0 0 - 0 0
A [zoith 0 0 - - 0 0 - - 0 0 - 0 0
= N 0 0 - - 0 0 - - 0 0 0 0 - 0 0
v (EB& [REAIVOLD 0 0 - - 0 0 - - 0 0 - 0 0
> REHAIVUEE 0 0 - - 0 0 - — 0 0 0 0 - 0 0
BB EBEHEHGYMR) 0 0 - - 0 0 - - 0 0 - 0 0
T (B8R EBEHEHKEOIHM) 0 0 - - 0 0 - - 0 0 - 0 0
BER F——awvs 0 0 - - 0 0 - — 0 0 - 0 0
X B8k ZFoft 0 0 - - 0 0 — - 0 0 - 0 0
it 0 0 - - 0 0 - — 0 0 0 0 - 0 0
A |0t BHHEHREYMR) 0 0 - - 0 0 - — 0 0 - 0 0
Z D4l BEHBERE D) 0 0 - - 0 0 - - 0 0 - 0 0
2 |20 > —/\—avsH 0 0 — — 0 0 — — 0 0 - 0 0
Z D4t ZDfth 19 4665 12.1 30.9 19 4665 12.1 30.9 8 616 8 616 - 8 616
% &t 19 4,665 9.8 28.3 19 4,665 9.8 28.3 8 616 8 616 - 8 616
N 19 4,665 9.8 25.0 19 4,665 9.8 25.0 8 616 8 616 - 8 616
Y |ER& RE A —RUA) 0 0 - - 0 0 - — 0 0 - 0 0
A< UA) 240 554 74.5 46.9 240 554 74.5 46.9 0 0 - 0 0
ZDfth 0 4,656 - 204.6 0 4,656 - 204.6 703 0 703 63.4 0 703
N E 0 5210 - 150.7 0 5210 - 150.7 703 0 703 52.0 0 703
ITERIVUEE 19 9,875 9.8 446 19 9,875 9.8 446 8 1,319 8 1,319 97.6 8 1,319
FHFX) 0 0 - - 0 0 - — 0 0 - 0 0
T2V RUHN - 0 0 - - 0 0 - - 0 0 - 0 0
WEH(EL A 19 4,665 9.8 25.0 19 4,665 9.8 25.0 8 616 8 616 - 8 616
@ it 19 9,875 9.8 44.6 19 9,875 9.8 44.6 8 1,319 8 1,319 82.5 8 1,319
SAEIEREA L ¥WEt1HE SAEIFEREA L #WEt1~HEt SEIFERE L
B = & %8 = & % B = & % B = & % B = & %
R |V EFEERAER - — 5,941 12,340 105.1 66.3 5,941 12,340 105.1 66.3
E V947 8&Enth) - — 4411 22,944 71.6 66.0 4411 22,944 71.6 66.0
A [zoih — - 9,184 135,978 98.2 104.2 9,184 135,978 98.2 104.2
= N - - 19,536 171,262 92.3 93.1 19,536 171,262 92.3 93.1
< BB | RERIYDOHLD — — 0 16,355 — 94.2 0 16,355 — 94.2
v REHRIVUAE — — 19,536 187,617 92.3 93.2 19,536 187,617 92.3 93.2
BB  EHEHRGEGMER) - - 151 3,137 29.8 3.8 151 3,137 29.8 3.8
I |88 BEHEHREDOIH) - — 0 0 — - 0 0 - -
EEIEN F——Owy - — 270 8,197 60.1 32.8 270 8,197 60.1 32.8
x BB ZFoih — — 2,492] 818,175 219.6 79.1 2,492 818,175 219.6 79.1
it — — 2913] 829,509 139.3 72.7 2913 829,509 139.3 72.7
A |0t EHEREYR) - — 234 32,576 39.9 79.1 234 32,576 39.9 79.1
ZDfh BHHERE D) — — 553 96,356 78.3 81.6 553 96,356 78.3 81.6
2 (2D A—/"—avy - — 764 113,544 62.8 73.3 764 113,544 62.8 73.3
Z Dk ZDfth — - 4,824] 973,095 70.7 69.6 4,824 973,095 70.7 69.6
D% it - - 6,375| 1,215,571 68.3 71.0 6,375 1,215571 68.3 71.0
N — — 9,288| 2,045,080 81.3 71.7 9,288 2,045,080 81.3 71.7
Y |&R& RE 7 —RUE) - -l 192,821 48,541 443 68.8] 192,821 48,541 44.3 68.8
A=) - -1 190513] 295572 77.3 745 190513 295572 77.3 74.5
Z Dt - 63.4 0 479,557 — 87.6 0 479,557 — 87.6
N F — 52.0 0] 823670 — 81.2 0 823,670 — 81.2
TEXRIVUEE — 97.6 9,288| 2,868,750 81.3 74.2 9,288| 2,868,750 81.3 74.2
#H(FR) - - 19,375 170,965 56.5 57.2 19,375 170,965 56.5 57.2
T=7 W R UHhN - — — 0 1,453 - 32.8 0 1,453 — 32.8
BEH(ELUEED — — 28,824| 2,216,342 88.5 73.0 28,824| 2,216,342 88.5 73.0
i it - 82.5 28,824 3,228,785 88.5 73.9 28,824| 3228785 88.5 73.9

17




201 1 il
01o% 1 A W A (B EERBH) (g4, T, %)
BEE o = =0 b4 24 SUHAR—IL I4VEY
M E & & B E £ % = & & B = & % 8= £ % 8= & % = | £ 8
REAR |ERREEHED) 11,593 94,906 17,085 272,706 40,833 442,618 3,513 29,503
TV B & 3,236 45,039 2,421 1,738
X E R & & 0 0 11,5693 98,142 17,085 317,745 40,833 445,039 3,513 31,241 0 0 0 0
TxH |HEXEHER 1,117 63,491
22y (BEF-n-1v) 15 2,509
EEHESaL 2 1,005 44 37,644 333 50,612 23 6,636
EEEES 2 1,005 1,176 103,644 333 50,612 23 6,636 0 0 0 0 0 0
ZOMh Bt ERE 200 15,920 25 1,190
ZDh:A—N—0v) 674 37,327 18 3,107 20 1,258
ZFDih:ZF D4 1,075 100,568 5 625 26 3,329
ZDhET 0 0 1,949 153,815 23 3,732 71 5,777 0 0 0 0 0 0
N E 2 1,005 3,125 257,459 356 54,344 94 12,413 0 0 0 0 0 0
T 863 442,670 83,813 243,355 640 2,723 1,256
I %X H & & 2 1,868 3,125 700,129 356 138,157 94 255,768 0 640 0 2,723 0 1,256
#( F X ) 169 664 15 227 31,509 96,976 161 2,618
T—ILRUVH/IN— 2,530 8,923 926 229 753
B HEIUEED 2 1,005 14,718 352,365 17,441 327,050 40,927 455,031 3,513 29,503 0 0 0 0
) 2 4,398 14,718 807,858 17,441 457,055 40,927 798,012 3,513 31,881 0 6,094 0 1,256
141X R N)L¥F— IS5 R K1Y 137 = TA)HERE
B} E & %8 B8 = & % = & %8 B8 = & %8 # = & % B = & E = | £ %8
RER |ERREEHED)
SV B & 299
X E B & &t 0 0 0 0 0 0 0 0 0 0 0 0 0 299
T%H B9CHHER 2 7,093
2oy |BEA-n-0y) 1 14,689 1 877
EEESa2L 5 1,830 1 712 1 744 16/ 10,783
EEES) 5 1,830 2 15,401 0 0 2 7,093 1 744 1 877 16] 10,783
ZOM B EE 1 994
Z DA —n—0yy 1 1,055
ZF D FDith 1 410 2 2,469
ZDHhET 0 0 0 0 1 410 3 3,463 1 1,055 0 0 0 0
N F 5 1,830 2 15,401 1 410 5 10,556 2 1,799 1 877 16] 10,783
2 & 22,579 1,402 2877
I %X A & &t 5 1,830 2 15,401 1 410 5 33,135 2 3,201 1 877 16| 13,660
g ( F A )
T—ILRUH/N—
 E(EIUBED 5 1,830 2 15,401 1 410 5 10,556 2 1,799 1 877 16] 10,783
# it 5 1,830 2 15,401 1 410 5 33,135 2 3,201 1 877 16] 13,959
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x5 WEH1 A XTEIE R EAEE REt1~A&t X AL R HA L

= o] B E £ % 8= & & B = & % 8= £ %
REAR |ERREEHED) 73,024 839,733 85.2 80.3 73,024 839,733 85.2 80.3
TV B & 0 52,733 — 72.7 0 52,733 - 72.7
X E R & & 0 0 73,024 892,466 85.2 79.8 73,024 892,466 85.2 79.8
IT%H B9XEHER 1,119 70,584 1748.4 819.2 1,119 70,584 17484 819.2
22y (BEF-n-1v) 17 18,075 6.5 133.9 17 18,075 6.5 133.9
EEHESaL 2 2,559 427 112,525 92.8 218.1 427 112,525 92.8 218.1
EEEES 2 2,559 1,563 201,184 199.4 272.9 1,563 201,184 199.4 272.9
ZOMh Bt ERE 226 18,104 52.2 59.7 226 18,104 52.2 59.7
Z A= -0Oy8 713 42,747 631.0 563.4 713 42,747 631.0 563.4
ZFDih:ZFDith 1,109 107,401 140.7 157.2 1,109 107,401 140.7 157.2
ZDhET 0 0 2,048 168,252 153.5 158.4 2,048 168,252 153.5 158.4
N F 2 2,559 3,611 369,436 170.5 205.3 3,611 369,436 170.5 205.3
T 0 802,178 — 102.3 0 802,178 — 102.3
I %X H & & 2 2,559 3,611 1,171,614 170.5 121.6 3611 1,171,614 170.5 121.6
#( F X)) 31,854 100,485 79.5 79.1 31,854 100,485 79.5 79.1
T—ILRUVH/IN— 0 13,361 — 197.5 0 13,361 — 197.5
#w FEIUEED 2 2,559 76,635 1,209,169 87.3 98.7 76,635 1,209,169 87.3 98.7
% Hi 2 2,559 76,635 2,177,926 87.3 98.3 76,635 2,177,926 87.3 98.3
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